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Outcome 2 - By factorising

Bronze examples

Silver examples

Gold examples
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Examples... Examples... Examples___ l4x  x
S;J:?ri;:z following quadratic f:::iiz:z el g lauadiats Solve the following 2’5\}\;‘;
o quadratic equations... | , - >
x*+2x—8=0
x-Dx+2)=0 (x+ 4)(x=2)=0 2x2—-13x—-7=0
/N Snoc (2x+1)(x = 7)
x—1=0 x+2=0 x+4=0 or x—2=0
o X=—4 o x=2 e T~
x=1 or x=-2 ) 4 Sr—2420 xe-8 2x +1=0 or x—7=0
PP
+4)(x—3)=0 . _ +8)(x—3)=0 =3 1
(X )(x ) x =3 (x )z(x3 ) ) * x=—35 or = 12x 2x
_ x = x“+3x = x=0
x(x+8)=0 B x(x+3)=0  ,__3 3x = 2
| x=-8 I ' 3x2+10x—8=0 ,:’z-‘
- [ | - | | /] £ 4
_ (3x—-2)(x+4)=0
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Solve the following quadratic equations.. &) Sx-2=0 or ¥
2
x= 35 or x=-—4
L G+6)E-2=0 2 (x-3)(x-1=0 ’
——
N | |
A

o X+Dx+11D)=0 & x+8)(x-12)=0

5 -Dx+10)=0 § (x+5)(x-5)=0

Z x(x—6)=0 8 xx+14)=0

6x(x—2)=0

o

S 4axx+7)=0

Gold Questions aB
Solve the following quadratic equations... "-")
L 2x¥+5x+2=0 2 2x*+7x-15=0

s 5x2+3x—-2=0 & 7x?-20x-3=0
S 2*-9%+7=0 & 3x*-8x+4=0
Z 15x*-17x—-4=0 8 4x*-8x+3=0

S x*-28x+49=0 28

9x? —12x+4=0
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Silver Questions
Solve the following quadratic equations.. &)

p i x2+5x+4=0 & x2-8x+7=0

o X2+4x—-60=0 & x2—4x-32=0

& *+3x-10=0 & x*-49=0
Z x2—4x=0 8 x*+10x=0
8 2x*+6x=0 I8 9x?—-54x=0
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Bronze Answers

1. x=-6and x=2 2. x=3andx=1
3. x=-9and x=-11 4, x=-8and x=12
5. x=land x=-10 6. x=5and x=-5
7. x=0Qand x=6 8. x=0 and x=-14
9. x=0and x=-7 10. x=0andx=2

Silver Answers

1. x=-4and x=-1 2. x=landx=7
3. x=-10and x= 5 4, x=--4and x=8
5. x=-Band x=2 6. x=T7and x=-7
7. x=0and x= 4 8. x=0 and x=-10
9. x=0and x=-3 10. x=0andx=6

Gold Answers

x=-1/2and x = -2 x=3/2and x= -5
xz2/Band x = -1 xz-1/7and x= 3
xz=7/2and x=1 xz2/3and x= 2

x=4/3and x = -1/5 x=3/2and x=1/2
x=7/2 xz2/3
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